Review Questions: American I Final Exam
Important:  This group of questions is not intended to take the place of true study using your notes and materials from the quarter.  This is simply practice reading and completing multiple choice questions similar to the questions you will see on the NCFE
1. A major reason the American colonists of the 1600s chose to settle along the seacoast and rivers was so that they could
a)  export slaves 




b) carry out trade

c) protect themselves from Native American Indians 

d)  use water power to run factory machinery
2. Under the British system of mercantilism, the American colonies served primarily as a 
a) self-sufficient trading partner for other European nations 

b) market for British manufactured goods and a source of raw materials

c) source of manpower for the British army and navy 

d) buffer to the expansion of French and Spanish colonies 
3. Which heading best completes the partial outline below?
 I. _________________________________ 

A. House of Burgesses 

B. Mayflower Compact
C. New England town meetings 
D. Albany Plan of Union
a) Early Colonial Documents


 b)  Limits on Representative Government
b)  Contributions of the Enlightenment 

d)   Foundations of American Democracy
4. The phrase “consent of the governed” refers to the: 

a) source of the government’s power

 b) need to create political parties 

c) commitment to use implied powers

 d) development of a federal system of government

5. One weakness of the Articles of Confederation was the inability of the central government to 
a) establish a postal system 


b) collect adequate taxes from the states 

b) control western lands 



d) admit new states to the Union 
6. What was a result of the Great Compromise during the Constitutional Convention of 1787? 
 
a) creating a two-house legislature 


b) banning slavery in Southern states 

c) requiring that the president have a cabinet 
d) giving the Supreme Court the power to hear cases involving states
7. A primary reason the Antifederalists opposed ratification of the United States Constitution in 1787 was because the Constitution failed to 
a) include a bill of rights 


b) provide for a strong national defense

c) restrict immigration 


d) extend voting rights to women

8. Which geographic features had the most significant positive influence on settlement patterns and economic development in the British North American colonies?
a) rivers and harbors 


b) mountains and plateaus 

b) forests and deserts 


d) prairies and lakes 
9. The Erie Canal played a large role in the settlement of the Midwest because it provided a link between the Atlantic Ocean and the 
a) Gulf of Mexico


 b) Missouri River 

c) Great Lakes 



d) Pacific Ocean 

 10. During the 1600s and 1700s, the fundamental goal of British mercantilism was to 
a) prohibit all exports of raw materials from the colonies

b) encourage economic competition with the American colonies 

c) develop manufacturing within the colonies 

d) maintain a favorable balance of trade for Great Britain with its colonies 

11. The Proclamation of 1763 was issued by Great Britain after the French and Indian War primarily to
 a) promote colonial settlement beyond the Appalachian Mountains
 b) limit conflict between Native American Indians and colonial settlers
 c) encourage colonial economic ties with France
 d) force French settlers to leave British territory

“ …Small islands not capable of protecting themselves, are the proper objects for kingdoms to take under their care; but there is something very absurd, in supposing a continent to be perpetually governed by an island. In no instance hath nature made the satellite larger than its primary planet, and as England and America, with respect to each other, reverses the common order of nature, it is evident that they belong to different systems: England to Europe, America to itself.…” — Thomas Paine, Common Sense

 12. The argument presented in this passage was intended to
a) urge colonists to accept the Albany Plan of Union
b) provide a reason for ratification of the Constitution of the United States 
c) convince American colonists to declare their independence 
d) persuade France to aid the United States in the Revolutionary War 6

12. What was one effect of the Three-fifths Compromise? 
a) Slave states gained additional congressional representation.
b) The number of justices on the Supreme Court was established. 
c) Presidential appointments were assured easy confirmation. 
d) A two-house legislature was created.

Base your answers to the next 2 questions on the passage below and on your knowledge of social studies  

“We hold these truths to be self-evident, that all men are created equal, that they are endowed by their Creator with certain unalienable rights, that among these are life, liberty, and the pursuit of happiness. That to secure these rights, governments are instituted among men, deriving their just powers from the consent of the governed”
13. Which document includes this passage?
 a) Mayflower Compact 
b) Declaration of Independence 
c) Northwest Ordinance 
d) Monroe Doctrine 
14. This passage suggests that the authority of government
 a) originates from the divine right of kings
 b) is based on a social contract meant to guarantee individual rights 
 c) includes the power to seize private property for national defense
 d) is the source of all the natural rights of citizens

15.Which protection in the Bill of Rights is most directly related to the 1735 trial of John Peter Zenger? 
a) freedom of the press 
b) right to bear arms 
c) ban on unreasonable searches 
d) freedom from double jeopardy
16. In the publication Common Sense, Thomas Paine argued that
 a) foreign nations would reject an independent American government 
b) the British government would be impossible to overthrow 
c) America was dependent on British trade and protection 
d) the American colonies should break away from England 

17. Shays’ Rebellion (1786) became a concern for many national leaders because it 
a) indicated there would be future conflicts over the spread of slavery
b) exposed fundamental weaknesses in government under the Articles of Confederation
c) pointed to the need for federal government regulation of interstate commerce 
d) showed that frontier settlements were vulnerable to raids by Native American Indians
18. One similarity in the foreign policies of Presidents George Washington, Thomas Jefferson, and James Monroe was that they:

a) favored France over England    


 b) sought to avoid involvement in European political struggles

c) came to the defense of Latin American countries   
d) promoted colonial expansion

19. What were two key precedents established by George Washington during his presidency?

a)foreign policy of neutrality and the use of Presidential advisors  
b) protective tariffs and foreign alliances during peacetime   
c) aid to farmers and the end of the slave trade   
d) universal male suffrage and support for political parties

20. Which presidential policy was promoted by the geographic isolation of the US from Europe?

a) Thomas Jefferson’s support of low tariffs 
        b) George Washington’s Proclamation of Neutrality

c) Abraham Lincoln’s opposition to the spread of slavery   d) Andrew Jackson’s Native American Indian removal efforts

21. “ The great rule of conduct for us in regard to foreign nations is, in extending our commercial relations to have with them as little political connection as possible” – George Washington, Farewell address , 1796
According to President Washington, the interests of the US would be BEST served by:

a) placing tariffs on imported goods  

 b) avoiding trade agreements with foreign nations
  

  c) maintaining a foreign policy based on neutrality  
d) forming military  alliances with other nations

22. Since 1823, which US policy has limited foreign influence in the Western Hemisphere?

a) the Eisenhower Doctrine  b) Monroe Doctrine  c) imperialism  d) popular sovereignty

23. The creation of the 1st political parties in the US resulted from a controversy over:

a) expanding slavery into the newly acquired territories
  b) interpreting the Constitution 
c) recognizing women’s equality



  d) declaring independence from Great Britain

14. . Alien and Sedition acts and Virginia and Kentucky Resolutions: These pieces of legislation reflected the conflict between:

a) the US Supreme Court and state courts  
b) the military and civilian government 
c) Congress and the President

d) states’ rights and federal supremacy

25. What was the result of many of the Supreme Court decisions made under Chief Justice John Marshall between 1801 and 1835?

a) the system of slavery was weakened   


b) antitrust laws were upheld  
c) the Federal government was strengthened


d) the rights of workers were supported

26. The Supreme Court decision of Marbury v. Madison ( 1803) was important because it:

a) proved that the legislative branch was the most powerful branch of government 
b) showed that the states were stronger than the federal government 
c) led to the reelection of President Thomas Jefferson  
d) established the principle of judicial review

27. When President Thomas Jefferson acquired the Louisiana Territory from France , he demonstrated that he had modified his belief that:
a) commercial development was the main goal of the federal government  
b) the Constitution should be strictly interpreted 
c) adding territory would lead to regional rivalries 
d) the federal government should limit individual rights

28. In the early 1800s , the need for a water route to help farmers ship their products to market was one reason for the 
a) Missouri Compromise   b) Louisiana Purchase  c) Mexican Cession  d) Gadsden purchase

29. The Louisiana Purchase had great geographic significance for the US because it :

a) decreased tensions with Native Americans 
 b) focused the US on westward expansion  
c) extended the US control over Mexico  

d) reduced British control of  North America

30. Elizabeth Cady Stanton and Lucretia Mott were best known for their struggle to:

a) prohibit the manufacture and sale of alcohol  
b) expose government corruption 
c) secure the right of women to vote  

 d) form labor unions

31. Both the Missouri Compromise of 1820 and the Compromise of 1850 settled conflicts between the North and the South over: 
a) Supreme Court Decisions   

b) admission of states to the Union 
c) voting rights 



 d) Presidential election results

32. William Lloyd Garrison, Harriet Tubman, and Harriet B. Stowe are best known for their efforts to:

a) expand the rights of women

  b) oppose the practice of slavery 
c) begin the temperance movement 

 d) create free public schools

33. Before the Civil War, slavery expanded in the South rather than in the North because:

a) geographic conditions in the South encouraged the development of large plantations 
b) Northern states passed affirmative action legislation  
c) the Constitution contained a clause that outlawed the importation of slaves into the Northern states 
d) Congress passed a law forbidding slavery in the North

34. The term “ Manifest Destiny” was first used in support of:

a) laws restricting labor union activity   

b) westward expansion to the Pacific Ocean  
c) efforts to stop secession of Southern states 
 d) independence from Great Britain

35. In which war was Manifest Destiny used to justify US government actions?

a) Revolutionary War  b) Mexican War  c) Vietnam War  d) Civil War

36. During the first half of the 19th century, territorial expansion led to :

a) decreased domestic demand for manufactured goods  
b) increased tensions over slavery 
c) fewer conflicts with Native American Indians  

d) improved relations with bordering nations

37. What economic change resulted from the transportation revolution before the Civil War?

a) Trade between the US and Europe was sharply reduced  
b) the Northeast became better connected to the western section of the country  
c) the federal government began to regulate new business  
d) the system of slavery on southern plantations began to disappear

38. President Andrew Jackson claimed that use of the spoils system increased democracy in the federal government because it:

a) removed property holding qualifications for voting  
b) used nominating conventions to pick political party candidates  
c) allowed large numbers of citizens to hold office  
d) limited the role of the electoral college in presidential elections
39.  As a result of President Andrew Jackson’s policies, Native American Indians were:

a) relocated to reservations in Mexico 


 b) forcibly removed to areas west of the Mississippi River

c) gradually allowed to return to their ancestral lands 

d) given US citizenship

40.  The completion of the Erie Canal in the early 19th century aided the economic development of the US by:

a) supply water for the irrigation of western farms  
b) lowering the cost of shipping goods from the Midwest to the Atlantic coast  
c) providing a shipping route for cotton from the South to Europe  
d) supplying water power for running factories and mills

41. The annexation of Texas and the Mexican Cession are best described as efforts by the US to :

a) remove European threats  

b) limit the spread of slavery  
c) end wars of aggression 


 d) fulfill Manifest Destiny

42. The Seneca Falls convention of 1848 is often viewed as the beginning of the:

a) temperance movement 


 b) women’s rights movement 
 c) antislavery movement 


 d) Native American movement 

43.  Which statement best describes the economic differences between the North and South just prior to the Civil War?
 a) The Northern economy was primarily agricultural, while the southern economy was based on manufacturing 
 b) the Southern economy was more diversified than the Northern economy  
 c) Transportation systems were more developed in the North than in the South  
 d) Jobs on plantations attracted more European immigrants to the South than to the North

44. As the Civil War began, President Abraham Lincoln stated that his primary goal was to:

a) end slavery  

b) increase congressional powers 
c) preserve the Union  
d) set new national boundaries

45. One way that “ bleeding Kansas”, the Dred Scott decision, and John Brown’s raid on Harper’ Ferry had a similar effect on the US was that these events: 
 a) made sectional compromise more difficult  
b) contributed to the formation of the Whig party
  c) ended conflict over slavery in the territories   
d) eased tensions between the North and  the South

46. What was a major result of the Reconstruction period?  
 a) the political and economic rights of women were expanded and strengthened  
 b) the 13th, 14th, and 15th amendments were added to the US Constitution  
 c) racial segregation in US schools ended  
 d) the power of the states increased at the expense of the Federal government

47.  Which newspaper headline would have appeared during the Reconstruction Period after the Civil War?

a) “Former slaves made citizens”  

b) “ Emancipation Proclamation issued” 
 c) “ Jim Crow Laws End”  

 d)” Supreme Court issues Dred Scott decision” 

48.  After the Civil War, serious differences between Congress and President Andrew Johnson about how to handle Reconstruction led to the :
 a) resignation of President Johnson  

 b) end of the Ku Klux Klan  
 c) impeachment of President Johnson  

d) election of a Democratic President

49.  What was a major result of the Civil War? 
 a) the judiciary became the dominant branch of the federal government 
 b) the power of the Central government was strengthened
 c) Congress passed an amendment to provide for the direct election of senators 
d) states now had the right to secede from the Union

50. Following Reconstruction , the term New South was most often used to describe:  
a) new attitudes in race relations 


 b) changes in the southern economy 
c) the decline of the sharecropping system  

d) the growth of the Republican Party in the South

51.  Following the Civil War, many Southern states enacted Black Codes to :  
a) provide free farmland for African Americans  
b) support the creation of the Freedmen’s Bureau  
c) restrict the rights of formerly enslaved persons  
d) guarantee equal civil rights for African Americans

52. In the years immediately after the ratification of the 14th and 15th amendments, the experiences of African Americans in the South indicate that :
  a) constitutional change have not always achieved their goals 
 b) legal equality leads to social equality 
 c) Congress and the Federal courts have historically had the same goals regarding civil rights  
 d) Reconstruction met all the goals of the Radical Republicans

53.  What effect did the system of sharecropping have on the South after the Civil War?
a) it brought investment capital to the South 

 b) it kept formerly enslaved person economically dependent  
) it provided for a fairer distribution of farm profits      d) It encouraged Northerner to migrate south

54.  The Jim Crow legal system, which expanded in the South after Plessy v. Fergusion ( 1896) was based on the Supreme court’s interpretation of the : 
a) equal protection clause of the 14th amendment 

 b) voting rights provisions in the 15th amendment 
 c) due process clause of the 5th amendment  


d) states rights provision of the 10th amendment

55. Speaker A : The ( African Americans) demand equality – political equality, industrial equality, and social             

                            equality: and he is never going to be satisfied with anything less

      Speaker B: Equal but separate accommodations for the white and colored races is for the preservation of the  

                            public peace and good order

      Speaker C: Vocational training will provide the means for African Americans to gain the civil liberties they 

                         deserve

      Speaker D : The best answer for the equality of the African Americans lies in a return to his homeland in Africa

-Which of the given speakers would most likely support the Jim crow laws that emerged in the 1890s?

a) A   b) B   c) C   d) D

56.  Before the Civil War, the principle of popular sovereignty was proposed as a means of:

a) allowing the states to secede from the Union   
b) overturning unpopular decisions of the Supreme Court  
c) deciding the legalization of slavery in a new state   d) permitting voters to nullify federal laws

57.  AT the time of the Civil War, two major issues dividing the North and South were:

a) welfare reform and income tax rates  


b) states rights and status of slavery in new states  
c) loyalty to Britain and Taxation without Representation  
d) immigration policies and westward expansion
58.  During the 1840s, abolitionists opposed annexation of new western territory because they : 
a) supported an isolationist attitude  


b) were concerned with the legal rights of Native Americans 
c) wanted to limit the power of  the national government   
d) feared the admission of new slave states 
59.  The institution of  slavery was formally abolished in the US by the: 
a) Compromise of 1850 



 b) Emancipation Proclamation of 1863 
 c) creation of the Freedmen’s Bureau in 1865  
d) ratification of the 13th amendment in 1865

60.  Which two battles are considered the turning point battles of the  Civil War?

a) Bull Run and Antietam  

b) Gettysburg and Vicksburg  
c) Antietam and Petersburg  

 d) Appomattox and Shiloh

 Speaker A : “ I am tired of fighting.  The little children are freezing to death.  My people, some of them, have run away 

       to the hills and have no blankets , no food”

        Speaker B:  “ We took away their country and their means of support , broke up their mode of living, their habits of 

         life, introduced disease and decay among them”

         61. Both of these speakers are commenting on the :  

a) evils of child labor



 
 b) condition of former slaves after the Civil war  

c) vanishing way of life for Native American Indians 

 d) need to limit immigration to the US

         62.The passage of the Dawes Act in 1887 was primarily an attempt by the US government to :

 a) hire Native Americans as army scouts  

b) encourage Native American Indian tribes  to give up their traditional cultures  

c) return eastern land to Native American Indian tribes 

d) limit the power of the Bureau of Indian affairs

        63. The Chinese Exclusion act ( 1882) is an example of :

a) US attempts to stay out of foreign wars  

 b) actions that reflected widespread nativist sentiment 

 c) successful negotiations to encourage trade  
d) international humanitarian programs

        64.  The Indian Wars that occurred between 1860 and 1890 were mainly the result of:

 a) the search for gold in California  


b) conflict with Mexico over Texas and California 

 c) the movement of settlers onto the Great Plains 

 d) disputes over the spread of slavery

        65. The Homestead Act of 1862 helped the development of the West by: 

 a) granting land for construction of transcontinental Railroads  
b) providing free land to settlers

c) placing Native American Indians on reservations  


d) allowing slavery to spread to the territories

66. The invention of the steel plow, the passage of the Homestead act, and the completion of the transcontinental railroad all contributed to the : 

a) gold rushes in California and Nevada  


b) the development of the Great Plains  

c) placing native American Indians on reservations  

d) growth of the plantation system of agriculture

